

## Suma de fracciones de distinto denominador

Calcula:

$$\frac{1}{2} + \frac{2}{3} + \frac{1}{6} = \boxed{\phantom{0}} + \boxed{\phantom{0}} + \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$\frac{3}{4} - \frac{1}{6} = \boxed{\phantom{0}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$\frac{3}{4} - \frac{1}{8} = \boxed{\phantom{0}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$\frac{1}{5} + \frac{2}{3} + \frac{1}{15} = \boxed{\phantom{0}} + \boxed{\phantom{0}} + \boxed{\phantom{0}} = \boxed{\phantom{0}}$$